
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Aritmética de exponentes (exponentes negativos)

(−1) − 1 =2 7 − 3 =2

2 − 5 = 4 − (−5) =2

(−1) + (−6) =2 9 − (−10) =2

(−3) + (−6) =(−1) (−5) − 4 =

(−9) − (−5) =2 (−10) + 8 =

3 − 3 =2 2 + (−10) =(−1)

(−9) + 1 =(−1) (−6) − (−9) =2

5 + (−6) =(−1) 4 − (−10) =(−2)

(−4) + 6 =(−1) (−8) − 5 =2

(−8) − (−8) =(−2) (−6) − (−9) =(−1)
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Aritmética de exponentes (exponentes negativos)

(−1) − 1 = 02 7 − 3 = 462

2 − 5 = (−3) 4 − (−5) = 212

(−1) + (−6) = (−5)2 9 − (−10) = 912

(−3) + (−6) = (− ) = (−6 )(−1)

3
19

3
1

(−5) − 4 = (−9)

(−9) − (−5) = 862 (−10) + 8 = (−2)

3 − 3 = 62 2 + (−10) = (− ) = (−9 )(−1)

2
19

2
1

(−9) + 1 =(−1)

9
8

(−6) − (−9) = 452

5 + (−6) = (− ) = (−5 )(−1)

5
29

5
4

4 − (−10) = = 10(−2)

16
161

16
1

(−4) + 6 = = 5(−1)

4
23

4
3

(−8) − 5 = 592

(−8) − (−8) = = 8(−2)

64
513

64
1

(−6) − (−9) = = 8(−1)

6
53

6
5
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